Ex/PHIL/PG/2.3/2023
MASTER OF ARTS EXAMINATION, 2023

(1st Year, 2nd Semester)
PHILOSOPHY

[ Philosophy of Language (Indian) |

Time : Two Hours Full Marks : 30

1. a)

b)

Answer either in English or in Bengali.
Group -A (f9et% - %)

Why do the opponents of the Naiyayikas think that
Visvanatha’s definition of the sakti relation does not
apply to modern names? Answer after
Siddhantamuktavali and

Siddhantamuktavalisamgraha .
How do the Naiyayikas refute this objection?

Do the neo-Naiyayikas admit Viévanatha’s
definition of the $aksi relation? Discuss after
Siddhantamuktavalt and

Siddhantamuktavalisamgraha . 3+4+3=10
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What are the main arguments in favour of the
Prabhakara theory of sentence-meaning?

What is the ground behind the objection that if the
Prabhakara theory of sentence-meaning is admitted,
then it will be impossible to learn a natural language?
How do the Prabhakara philosophers meet this

objection? 5+24+21=10
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a)

What is the ground behind the objection that if
Visvanatha’s definition of the sakt#i relation is
admitted, then there will be no need to admit laksana

as a separate Vritti?

b)
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How do the Naiyayikas meet this objection? Answer
in brief after Siddhantamuktavaltsamgraha .
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4. Explain in brief the arguments by which the Bhatta

Mimamsakas establish the thesis that the meaning of a

sentence cannot be communicated by the words

constituting the sentence. 5
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Discuss, with the help of suitable examples, how the
knowledge of the denotative power (S$akti
sambandha) is acquired by observing the usage of

competent speakers of the language.
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Is it possible to have any verbal comprehension from
expositions like ‘bhiitale nilo ghatal’? Explain
following Siddhantamuktavalr . 4+6
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What are the arguments in support of the view that

the denotative power of a word exists in a universal?

Why has it been said that the cognition of the
denotative power of a word gives rise to both the
recollection of the object and the verbal cognition as

qualified by the same qualifier? 5+5
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7. How does the Naiyayikas refute the Grammarian view

regarding the denotative power of a verbal case-ending?

Answer following Siddhantamuktavalr . 5
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8. Do you think that the words like ‘mandala’ and
‘mandapa’ can be treated as examples of conventional
words? Give reasons for your answer. 5
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